%j.iﬂ%:}—é—:} U = {1, 2, 3, 4, 5, 6’ 7}0]_]__7_’ A — {1’ 2’ 3, 4}, B _
{1, 3,5 7724 o, (AU B & T2

D {1, 3) @ (2,4 @{5, 7}
@ {3, 5, 7) ® {5, 6, 7}

(AUBS ) =A°NB=BNA°“=B-A={5T7)




A% @UJ-Erl‘%%é’% , Bl ti3ted n(U) = 40, n(AUB) = 35,
n(ANB) =5,n(B) =30 < ], n(B-A) 9] 3t2?

~

@5 @7 ®9 @ 11 ® 13

n(B) = n(U) — n(B°) =40 - 30 = 10
n(B-A)=n(B)-n(AnB)=10-5=5




3. 1% 20 7179 AA4 % 2 o |50l At 3 9] w57} opd e
M=

@ 57K @ 671 @77]1 @ 87N ® 107M

n(A) =10,n(B) = 6,n (AN B) = 3 °|t}.
metA n(A-B)=n(A)-n(ANB)=10-3=7




@ A, @ Ag ® Ag @ Az @A18

Ag = {6, 12, 18, 24---}, Ag = {9, 18, 27, 39---}, A13 =
{12, 24, 36, 48---}, A1g = {18, 36, 54---} ojlBg (AG UAlg)ﬂ
(AgUA1g) =Ag NAg = Asg




ARG U = (3,4,5,6,7) o] A2 o2 F FEAT X, v of 5t
(XUY)—(XnY) o 7P E At X ol £ o], ¥ <<< X 2t 5hAk
U BEAHS A = (3,47}, B=1{4,6,7}, C = {4,5,6} o] ts}4

2 ALY

@D A<<<B<<<(C @ A<<<C<<<B
® B<<<A<<<C @ B<<<(C<<<A
@C<<<A<<<B

S5
i) A% A, Bl st
(AUB) - (AN B) = {3,6}
6e€BOBEE A<<<B---O
ii) Hg B, C ol tistod
(BUC)-(BNC) = (5.7)
7eBO|BR C<<<B---©
i) A A, C o Hsted
(AUC)-(ANC)=1{3,5,6,7}
TEAOIBR C<<<A---©
L@, 0,® A C<<<A<<<B




AARST U = (x|x<10090 A} o] Al RERAS A =
(x| x= 49 ¥}, B = (x| x= 59 B}, C = (x| x=
of thsted n((A°nB) U (A-C)) & Fstoi=h

| 2

>

c} -
=

Si= g

32

B-~C

A°NB=B-A 9]
(B-A)N

o
(A-C) =

~n((A°NB)U

(A= C)) = n(A° N B) +n(A - C)

n(A°NB) =n(B-A) =

n(B) —n(BNA)

n(A-C)

=20-5=15

—n(A)-n(ANC) =25-8=17
515417 = 32




